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Circles

)
13.In Circle O at the right, find the measure of CE.
: b
(- 2°2=(2¢ |24

. '
14.1f m£TPM=54°, what is the measure of TBA ?

e 0
200-36 = 32

Area& Surface Area

15.The area of a circle is 49mmin. What is its circumference?2 F= 7 . T
C=(I4T ¢n )

16.0ne side of rectangle is 16 cm and the perimeter is 72 cm. i wpreo?

2illp « 22 =72 20+ |le= ]
e e 2x=Hd0 X= 20

17.What is the exact area of the shaded region?

12— 260
S d{ 26l
_| f ' l) ,‘ 1 —

18.Find the area of the shaded part of circle Q.

4

% ﬁ |5"/‘L:\g“2"{
un =

{2z
19.A quiltis made from 12 inch squares as shown. If the vertices of the '

middle square are located at the midpoints of the lorger rsquare, what is
2
the area of the inner patterned squares q 2. (>

1d4 / 2=
20.What is the area of the equilateral triangle shown?
: N v
Lol 5% = VD um 7 X
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